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Year 4 Reasoning Test Set 3 Paper A

1. a) Write the number that is 100 more than 1963.

1 mark

b) What number is ten less than 1009?

1 mark

2. Write the 2 missing digits to make this addition correct:

2 )73
+19(8

4381

2 marks

3. Write these two numbers in numerals, using an appropriate symbol to compare
the numbers:

seven thousand and seventeen seven thousand and seventy

a

4. On the grid below draw a horizontal line through point H and a vertical line
through point V:

2 marks

V 1 mark
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Year 4 Reasoning Test Set 3 Paper A

5. Explain how you would calculate the answer to 84 x 7 =

1 mark

6. a) Measure the length of the following line in millimetres:

1 mark

b) What is the difference between the length of this line and the line above?

-

1 mark

7. Write all the factor pairs for the number 28.

1 mark

8. Complete the following equivalent fractions:

[j 3 300

100 ~ 10 ‘[j

1 mark

9. Circle any number that has a 6 in the hundreds place:

6106 7610 2861 9061 1615

1 mark
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Year 4 Reasoning Test Set 3 Paper A

10. Draw all the lines of symmetry on the following shapes:

2 marks

11.  Nina is 34 months old. How old will she be at her next birthday?

1 mark

12. Joshua buys 2 packets of crisps that cost 85p each. He pays with a £5 note. How
much change will he receive?

2 marks

13. Complete this number line:

-5 -2 -1 1 2 4

2 marks
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Year 4 Reasoning Test Set 3 Paper A

14. A teacher empties 3 complete packs of pencils into a pot and counts 21 pencils.
How many pencils would be in 8 complete packs of pencils?

2 marks

15. Here are 2 sets of weights. Tick the heavier set.

1 mark

16. a) Some children record the number of vehicles that pass a school each day. Here
is a table of the results. Complete the table and the bar chart.

Vehicles Passing the School

40
Time vehicles 35
9a.m. - 10a.m. 34 30

10a.m. - 11a.m.
1la.m. - 12p.m. 18
12p.m. - 1p.m. 25

N
(§)]

a)doad fo saqunN
N
o

1p.m. - 2p.m. 21 15

2p.m. - 3p.m. 29 10 —
5 — 2 marks
0

9a.m. - |10a.m. -|1la.m. -|12
10a.m. | 1lam. [ 12p.m. | 1

°T
33

IEEREEE
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Year 4 Reasoning Test Set 3 Paper A

b) Maria says, “The same number of vehicles passed the school before 12p.m. as
after 12p.m.”
Explain why Maria is correct.

1 mark

17. Plot the following points on this coordinates grid to complete the rectangle:

(51) (3,3) (7.7) (9,5)

10

2 marks

*xEND OF TESTx«

total for
this page

w Page 5 of 6 visit twinkl.com @




Year 4 Reasoning Test Set 3 Paper A Answers
1 a) 2063 1 mark for each 2 11 | 3years |
correct answer. marks mark
b) 999
5 2473 | ‘f N ) 12 | £3.30 2 marks for wwcorrect answer 2
+1908 corrnr:it a?\rsjvaecr marks in the correct format. 1 mark marks
4381 ' for answer in correct format
with 1 mistake in calculating.
3 7017 <7070 or 1 mark for correctly 2
70705 7017 writing 7017 and marks |1 43 | 4 3.0 3 2 marks for all >
7070. 1 mark for correct, 1 mark for | marks
correct use of < or>. 3 correct.
4 - Lines can be any I 14 | 56 pencils 2 marks for correct 2
length as long as the mark answer. marks
intention is clear. | .
: mark for both correct. I mark of working
indicates 1| pack
contains 7 pencils.
5 Answer may 2 marks for 2 P
explain using 80 x reasonable marks 5 1
7 added to 4 x 7. explanation. ) mark
91009 10
20 A lend |
Other options 1 mark for correct ‘ 9 4“__,%_)%30 |
include doubling 3 answer. Sg_f§09‘ /l
times and adding
84, [
16 |o—Tme—peees 34423+ 1875 3k
6 a) 108mm No marks for answer 2 am - 10am. | 34 _ marks
. . . marks 10a.m. - 1la.m. 23 25 + 2' + 29 _75
in different units. lam - 12 18 1 mark for
b) 39mm m. - 2Zp-m- '
12p.m. - lpm. | 25 23 in the
Award mark for 1p.m. - 2p.m. 21 table.
correct difference 2pm.-3pm. | 29
1 mark for
betWeen answer tO 66 w0 Vehicles Passing the School flnal bar to
and 69mm. " 29 (needs
30 to be 28‘30,
7 1 x28,2x 14,4 Answer can be written 1 £ close to 30
x7 I and 28 etc. of other | MarK g but not 30).
appropriate format as Eiz | mark for
long as pairs are clear. 5 showing the
O am - 10a.m. -[11a.m. -[12p.m. - lf.m.— 2£.mv- 2 tOtalS are
10a.m. I'T1am. ' 12p.m. | Ipm. | 2p.m. | 3p.m. e Ual.
8 % = 1% = % Both correct for 1 1 d
0 mark mark 17 2 marks for 2
\ all correct. marks
9 | 7610and 1615 Both must be circled 1 ~ I mark for
for a mark. mark 2 points
correct
10 1 mark for each shape 2 2
{} correct with 2 lines marks '
each' 1 2 3 4 5 6 7 8 9 10
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